B2

ZymiciE 28 (B

i)

5 10| 22 #IE

1 A SUMIE LR 254 PR 7]

2 ZROUINIT B 2547 R 22 7] Az Ailk 3 B
3 HAMRTE R 2L AT IR Az Ak 5 BT
4 WrE I ICIR T L IR A = Az Ailk 5 B
5 HMACRE D Z B AT PR A 7 Az Ak BT
6 WL AR J 250V BBy A R ] Az Ak 3 BT
7 LV — 7 RILZME A PR 2 7] Az Ailk 3 B
8 R — I 2B AT BR 22 7] Az Ak 5 BT
9 Ik P A Je 245 ML £ BB A A7 BR 22 7 Az Ailk BT
10 Ly B#ir 2l (BEBD FIRAF Az Ak S
11 JUE R 25 IR Az Ak 3 BT
12 AR ZL H RRA 5 26 AT PR ] Az Ailk 3 B
13 TR 21 H BA= 5 25 AT IR ] Az Ak 5 BT
14 1 2R — 7 #2454 PR 2 ] Az Ailk 5 B
15 WALTE 22 FERR 25 ML AR A PR 2 ) Az Ak BT
16 ZRACH M P20 T IR A Az Ak S




